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PartI Writing (30 minutes) + 3+ 24 34314+ 3+¢+ 343
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PartII Reading Comprehension (Skimming and Scanning) (15 minutes)
Directions: In this part, you will have 15 minutes to go over the passage quickly and answer the
questions on Answer Sheet 1.

For questions 1—4, mark

Y (for YES) if the statement agrees with the information given in the passage;
N (for NO) if the statement contradicts the information given in the passage;
NG (for NOT GIVEN) if the information is not given in the passage.

For questions 5—10, complete the sentences with the information given in the passage.
Population Growth Rates

Populations have a birth rate (the number of young produced per unit of population per unit of
time), a death rate (the number of deaths per unit of time), and a growth rate. The major agent of
population growth is births, and the major agent of population loss is deaths. When births exceed
deaths, a population increases; and when deaths exceed additions to a population, it decreases.
When births equal deaths in a given population, its size remains the same, and it is said to have zero
population growth.

When introduced into a favorable environment with an abundance of resources, a small
population may undergo geometric, or exponential (%)) growth, in the manner of compound
interest. Many populations experience exponential growth in the early stages of colonizing a habi-
tat because they take over an underexploited niche or drive other populations out of a profitable
one. Those populations that continue to grow exponentially, however, eventually reach the upper
limits of the resources; they then decline sharply because of some catastrophic (‘K #£[]) events
such as starvation, disease, or competition from other species. In a general way, populations of
plants and animals that characteristically experience cycles of exponential growth are species that
produce numerous young, provide little in the way of parental care, or produce an abundance of
seeds having little food reserves. These species, usually short-lived, disperse rapidly and are able
to colonize harsh or disturbed environments. Such organisms are often called opportunistic species.

s 238850



MEREXFIEARERA KRS

Other populations tend to grow exponentially at first, and then logistically — that is, their
growth slows as the population increases, then levels off as the limits of their environment or
carrying capacity are reached. Through various regulatory mechanisms, such populations maintain
something of an equilibrium (°F-4) between their numbers and available resources. Animals ex-
hibiting such population growth tend to produce fewer young but do provide them with parental
care; the plants produce large seeds with considerable food reserves. These organisms are long-
lived, have low dispersal rates, and are poor colonizers of disturbed habitats. They tend to respond
to changes in population density (the number of organisms per unit area) through changes in birth
and death rates rather than through dispersal. As the population approaches the limit of resources,
birth rates decline, and mortality of young and adults increases.

Community Interactions

Major influences on population growth involve various population interactions that tie the
community together. These include competition, both within a species and among species; predation
(35ZF1TR), including parasitism (FF4 4R Z5); and coevolution, or adaptation.

1. Competition

When a shared resource is in short supply, organisms compete, and those that are more
successful survive. Within some plant and animal populations, all individuals may share the re-
sources in such a way that none obtains sufficient quantities to survive as adults or to reproduce.
Among other plant and animal populations, dominant individuals claim access to the scarce re-
sources and others are excluded. Individual plants tend to claim and hold onto a site until they lose
vigor or die. These prevent other individuals from surviving by controlling light, moisture, and
nutrients in their immediate areas.

Many animals have a highly developed social organization through which resources such as
space, food, and mates are apportioned among dominant members of the population. Such com-
petitive interactions may involve social dominance, in which the dominant individuals exclude
subdominant individuals from the resource; or they may involve territoriality, in which the domi-
nant individuals divide space into exclusive areas, which they defend. Subdominant or excluded
individuals are forced to live in poorer habitats, do without the resource, or leave the area. Many of
these animals succumb to starvation, exposure, and predation.

Competition among members of different species results in the division of resources in a
community. Certain plants, for example, have roots that grow to different depths in the soil. Some
have shallow roots that permit them to use moisture and nutrients near the surface. Others growing
in the same place have deep roots that are able to exploit moisture and nutrients not available to
surface-rooted plants.

2. Predation
One of the fundamental interactions is predation, or the consumption of one living organism,
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plant or animal, by another. While it serves to move energy and nutrients through the ecosystem,
predation may also regulate population and promote natural selection by weeding the unfit from a
population. Thus, a rabbit is a predator on grass, just as the fox is a predator on the rabbit. Predation
on plants involves defoliation (%) by grazers and the consumption of seeds and fruits. The
abundance of plant predators, or herbivores, directly influences the growth and survival of the
carnivores (& [J2%). Thus, predator-prey interactions at one feeding level influence the predator-
prey relations at the next feeding level. In some communities, predators may so reduce populations
of prey species that a number of competing species can coexist in the same area because none is
abundant enough to control the resource. When predators are reduced or removed, however, the
dominant species tend to crowd out other competitors, thereby reducing species diversity.

3. Parasitism

Closely related to predation is parasitism, wherein two organisms live together, one drawing
its nourishment at the expense of the other. Parasites (374 H1), which are smaller than their hosts,
include many viruses and bacteria. Because of this dependency relationship, parasites normally do
not kill their hosts the way predators do. As a result, hosts and parasites generally coevolve (3[7]
1##4k) a mutual tolerance, although parasites may regulate some host populations, lower their
reproductive success, and modify behavior.

4. Coevolution

Coevolution is the joint evolution of two unrelated species that have a close ecological
relationship — that is, the evolution of one species depends in part on the evolution of the other.
Coevolution is also involved in predator-prey relations. Over time, as predators evolve more effi-
cient ways of capturing or consuming prey, the prey evolves ways to escape predation. Plants have
acquired such defensive mechanisms as thorns, spines, hard seed-coats, and poisonous or ill-tast-
ing sap that deter would-be consumers. Some herbivores (FEE 514)) are able to breach these de-
fenses and attack the plant. Certain insects, such as the monarch butterfly, can incorporate poison-
ous substances found in food plants into their own tissues and use them as a defense against predators.
Other animals avoid predators by assuming an appearance that blends them into the background or
makes them appear part of the surroundings. The chameleon is a well-known example of this
interaction. Some animals possessing obnoxious odors or poisons as a defense also have warning
colorations, usually bright colors or patterns, that act as further warning signals to potential predators.

Another coevolutionary relationship is mutualism, in which two or more species depend on one
another and cannot live outside such an association. An example of mutualism (B f|3t4) is
mycorrhizae, an obligatory relationship between fungi and certain plant roots. In one group, called
ectomycorrhizae, the fungi form a cap or mantle about the rootlets. The fungal hyphae (threads)
invade the rootlet and grow between the cell walls as well as extending outward into the soil from
the rootlet. The fungi, which include several common woodland mushrooms, depend on the tree for
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their energy source. In return the fungi aid the tree in obtaining nutrients from the soil and protect
the rootlets of the tree from certain diseases. Without the mycorrhizae some groups of trees, such as
conifers and oaks, cannot survive and grow. Conversely, the fungi cannot exist without the trees.
(1223 words)

R WO EEEEEF 1 LEE,

1. Populations have 3 agents, namely, a birth rate, a death rate, and a growth rate.

2. The major agents of population growth are births and deaths.

3. A small population may undergo geometric, or exponential growth when introduced into a
favorable environment.

4. Animals can not survive some catastrophic events such as starvation, disease, or competition from
other species.

5. The short-lived, rapidly dispersed species are often called

6. Birth rates decline, and mortality of young and adults increases when the population approaches

7. When a shared resource is in short supply, organisms compete, and those that survive.

8. The abundance of plant predators, or herbivores, directly influences

9. Parasites, which are smaller than their hosts, include

10. Certain insects, such as the monarch butterfly, can incorporate poisonous substances found in
food plants into their own tissues and use them as

Part III Listening Comprehension (35 minutes)

Section A

Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end
of each conversation, one or more questions will be asked about what was said. Both the con-
versation and the questions will be spoken only once. After each question there will be a pause.
During the pause, you must read the four choices marked A), B), C) and D), and decide which
is the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line
through the centre.

EE: HEMUEEEEEF 2 IR,

11. A) She enjoys standing in line. C) She would go the bank next time.
B) She differs from the man. D) She would go home.

12. A) She is very busy with something. C) She is not interested in the man.
B) She doesn’t like to be bothered. D) She wants to have a break.



13. A) She is pleased at the meeting.
B) She has caught a cold.

14. A) She will take the nonstop train at 2:15.

B) She will take the faster train at 2:00.

15. A) The man was sorry for his mistake.
B) The woman lost her report.

16. A) Freshman year was in a mess.
B) Giving him some time.

17. A) He is too busy to see a movie.
B) He has been so down.

18. A) Lifting up this side of the desk.
B) Waiting for a minute.

Model Test 1 CET

C) She is under the bad weather.
D) She recently enjoys the weather.

C) She will get a bite to eat.
D) She is not sure which train to take.

C) The report was lost.
D) The report was kept on the computer.

C) Giving him a chance.
D) Writing some more letters.

C) He has work to do all this.
D) He has the reason to be down.

C) Moving the lamp on the desk.
D) Helping her with pleasure.

Questions 19 to 21 are based on the conversation you have just heard.

19. A) He needs a change.
B) To visit New Mexico.

20. A) Because she was born there.
B) Because she worked there last year.

C) Because her sister vacationed there last year.

C) Get into Albuquerque.
D) Go skiing.

D) Because her sister and her vacationed there last year.

21. A) No humidity.
B) Moderate temperatures.

C) High altitude.
D) Half an hour away from the city.

Questions 22 to 25 are based on the conversation you have just heard.

22. A) A vacation trip to Yellow Stone Park.
B) A lecture by a visiting professor.
C) Her biology thesis.
D) A research project.

23. A) More buffalo are surviving the winter.
B) Fewer buffalo are dying of disease.
C) More buffalo are being born.

D) Fewer buffalo are being killed by hunters.
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24. A) She is from Wyoming. C) She has been studying animal diseases.
B) She needs the money. D) Her thesis adviser is heading the project.

25. A) Collecting information about the project. C) Writing a paper about extinct animals.
B) Working on a cattle ranch. D) Analyzing buffalo behavior.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear
' some questions. Both the passage and the questions will be spoken only once. After you hear a
question, you must choose the best answer from the four choices marked A), B), C) and D).

Then mark the corresponding letter on Answer Sheet 2 with a single line through the centre.
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Passage One
Questions 26 to 28 are based on the passage you have just heard.
26. A) Because engine trouble started.

B) Because the runway couldn’t be seen clearly.

C) Because the airport was not ready for the plane to land.

D) Because some traffic accident happened at the airport.

27. A) They were frightened. C) They comforted each other.
B) They kept calm and quiet. D) They were uneasy.

28. A) The plane was about an hour late.
B) The plane was about half an hour late.
C) The old man would not be late for his lecture.
D) The management of the airport was inefficient.

Passage Two
Questions 29 to 31 are based on the passage you have just heard.
29. A) Wrong use of electrical equipment, scald and smoking.

B) Electric shock, medicine poisoning and fire.

C) Electric burn and gas poisoning.

D) All of the above.

30. A) To keep medicine out of children’s reach.
B) To cut off the power before mending any electric equipment.
C) Not to put a stove in the center of a room.
D) To plug in an electric appliance.
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31. A) Home accidents are as serious as road accidents.

B) The careless use of electricity is one of the main causes of home accidents.

C) Modern electric equipment is too dangerous to be used with children and elderly people
around.

D) So far people pay little attention to home accidents.

Passage Three
Questions 32 to 35 are based on the passage you have just heard.
32. A) Kindly. C) Like dogs.

B) Badly. D) Like criminals.

33. A) Crude attempts were made to educate them.
B) They were used for medical experiments.
C) They were used as laborers.
D) They were locked away like criminals.

34. A) Mental hospitals. C) Private homes.
B) Prisons. D) Any residential areas.

35. A) To create a humane environment.
B) To save time and money.
C) To educate them.
D) To replace the family.

Section C

Directions: In this section, you will hear a passage three times. When the passage is read for the first
time, you should listen carefully for its general idea. When the passage is read for the second
time, you are required to fill in the blanks numbered from 36 to 43 with the exact words you
have just heard. For blanks numbered from 44 to 46 you are required to fill in the missing
information. For these blanks, you can either use the exact words you have just heard or write
down the main points in your own words. Finally, when the passage is read for the third time,

you should check what you have written.
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Part IV Reading Comprehension (Reading in Depth) (25 minutes)
Section A
Directions: In this section, there is a short passage with 5 questions or incomplete statements. Read

the passage carefully. Then answer the questions or complete the statements in the fewest pos-




